00t 0G€

00¢

(wdBb) ayey mol4

00¢ 0Gl 00l 0G 0

i | = T 1 ;rﬂl - == [T ] | [ OO

e

——————— oot

o e e o o o e )

(1sd) ainssaid

e s —

B o B ———— o0¢

0'GE

00y

= 1dif)
TWINd3HL

ISEIY
0SL'v
00s¢

pinj< 08¢ (1sd) ainssald ubisaQ
(sayoui) 18}owelq Jojedwy 891 (wdb) moj4 ubiseg
(wdi) peadg VS [epoN dwind




(wdb) ayey mol4
0G¢ 00¢ 0S1 00l 0g 0
—— —f————= S ——— _ - —+ 0°0
i 1 — o0l
— —— e e e e 1114
—— — —— ——TT " gog
— — o
_ — o
— _ ——— 00y
— —t—F 1t —1— o
_ _ R 009 =
——r 0,
009
00.
—] e - 008
_ 006
“ 181 A pin|4 8'99 (i1sd) ainssaiy ubise(
= mmqu 0059 (seyour) Jo1owelq Jo)jadw| 891 (wdb) moj4 ubisaq
.Es_mm_._._. 00S€ (wdi) pasdg aol [2poin dwind




